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Figure 1 Geometry of the problem.
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Figure 2 0 [rl) for shape effect of nanoparticles.
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Figure 3 f( r’) and 0 (r]) for dissimilar value of M.
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Figure 4 f ( r’) and 0 (r]) for dissimilar value of K.
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Figure 5 f( r’) and 0 (r]) for dissimilar value of A.
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Figure 6 f( ’7) and § (r]) for dissimilar value of B.
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Figure 7 0 (r,) for dissimilar value of §.
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Figure 8 O (r,) for dissimilar value ofe.
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Figure 9 0 (r]) for dissimilar value of R.
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Figure 10 N u for dissimilar value of K.
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Figure 11 N u for dissimilar value of §.
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Figure 12 N u for dissimilar value of R.
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